p(r)

Ratio to ATLAS

10

1071

[EEY

0.5

7000 GeV pp Jets
I
E'_ T T T T T T T —Eg
[ — O
— >
B 1D
B =
m ATLAS 13
—A— Pythia 6.428 370 N
--c-- Pythia 6.428 atlas-csc Sj
--+-- Pythia 6.428 d6t ®
- Pythia 6.428 default —g
~ __f_ Pythia 6.428 dw m
~  —o—\Pythia 6.428 p0 i
- BkS)
o™
<
(90
— —Jwo
— —Ho
— —™
| 1
u .=
— — %
| .,
e
(@]
. B
(D)
(@]
| g
— _] §
— 1o
- 1 O
H | | | | | | | | | | H &
:l T T T | T T T | T T |:
— -2
- k-—- —* A . M | 1
B B------_____ b s S — _‘_g:_ﬁ_—_—_—_:_:_:;_-_:.v:—r:‘:‘:‘: ===== B
| —0.5
| 1 1 1 | 1 1 1 | 1 1 |
0 0.2 0.4 0.6



	Contents
	Page 1


